31 aHBap4
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Tpex3aHayHoe YNC/TI0-CyMMa KpYyriblixX
COTEH U ABY3HAYHOI0O Yyncna nnu
O4HO3HA4YHOro ymcna.




58en.= 50ea.n 8en.

258en.=2coT. S5aec. 8epn.
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[19TbCOT WeCTbAECAT BOCEMb

CeMbCoOT aeBs HOCTOZLlBa

SAAFHMEN?

[1eBATbLCOT AEeCATb
[1BecTn aBaaLaTb BOCEMb
[19TbCOT NATLAECAT NATb

[eBATbCOT AeBATHAAUATL







3agaaHune N°4

70+5=705

700+5=705




600+8=06005
900+3=903
300+9=309




3anaHue N°5

439
812
702
543
315
201
650
1909
1108




3agaHune N°6

0 1u=100kr
] 1u 25kr=100kr+25kr=125«kr
1 3u 48kr=300kr+48kr=348kr







3aaaHue N°7/

1 147kr=100kr+4/kr=1u+4/xkr=1ud/Kr

[ 754kr=700kr+54kr=7u+54kr=7u54«kr




1-B

1 812kr=800kr+12kr=8u+12kr=8ul2Kr
2-B

[ 260kr=200kr+60kr=2u+60kr=2u60kKr




3anaHune N°8

1 1M=100cmMm @
0 100cM+44cm=144cm
%’

0 3M44cMm=300cM+44cMm=344cCM

¥




6M 95cMm=600cM+95cM=695cM
1M 50cM=100cM+50cMm=150cm™m
4mM 19cMm=400cM+19cM=419cM




3anaHne N°99
1 256cmM=200cM+56cMm=2M56CcM
[TIpoBepaem!

1 398cmM=300cM+98cM=3M98cM
1 720cmM=700cM+20cM=7M20cM
1911cM=900cmM+11cM=9M11cM




3agaHume N°10

0 1aMm=10cM™
[IpoBepsaem!

1 430cM=400cM+30cM=4M3aM




3agaHume N°11

1 1aM=10cM™ @ %

1 2aM=20cM e e " A
1 20aM=200cmM
oy,

&

| 2AM 2cM=22CM
] 20aM 2cMm=202cM




3agaHue N°13

-2







